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5) Identify the ordered pairs that are solutions to the linear inequality Sx — y > 47
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13. A fennis coach took his team out for lunch and bought 8 hamburgers and 5 fries for $24. The:
players were still hungry so the coach bought 6 more hamburgers and 2 more fries for $16.60.
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~ 35, .~I Find the cost for one hamburger.
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14. Jim sells hot dogs for $2.95 each and steck sandwiches for $9.95 each out of his food cart.
During @ busy outdoor festival, he sold  fotal of 985 items for $7343.75. How many steak
sandwiches did he sell?
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